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L nmwn: liability for nar>n done by more than one person’
a. If: he took a loaf of bread out to 7”7, he is liable
b.  But: if two took it out together, they are exempt
c.  Exception: if one person could not take it out alone and 2 took it out — they are both liable
i Dissent: nynw 7 exempts even in this case
II.  xma (or the source is either 17 or »aR): 3 circumstances involving jointly performed narYn
a. If: each one would be able to perform the naxYn alone
i »”7. they are both liable nonetheless
ii. wpw 11 1177 7. both exempt
b. If: neither of them could perform the nax%n alone
i i 71 p”r. liable
ii. Jwpw 1. exempt
c.  If: one of them could perform it alone but the other could not, all agree that *he* is liable
i. Identity of *he*: n"1 — the one who was capable, since the other essentially did nothing
1. Challenge (8213077 *3): he assisted
2. Response (1”7): wnn 11 PR Y»on — assisting another is not considered acting
3. Support (27 via 722r 77): 17 Par—if a a1 was sitting on a bed and there was a garment under each leg,
all are ©7Tn MRNY, since the bed cannot rest on 3 legs (v™ is 1nvn);
a. However: if he was riding on an animal and there was a garment under each leg, they are mmnv,
since the animal could stand on 3 legs
b.  Observation: even though each leg helps the other 3 to stand >wnn 11 PR Y»on
c.  Challenge: perhaps wnn 11 @ y»on, but in this case, since the nnna lifts each leg, not v
d. Block: since he alternates which les he raises, should be like ar rolling bed to bed — ©71n mxrnY
i. Rather: reason must be wnn 11 PR Y»on
4. Support (827 via 99 ’7): DY PaT -0V 1 — a horse is Rnon on its forelegs, the donkey on its hindlegs
a. Reason: that is what each one leans on (=2>wnn 12 PR Y on)
5. Support (>wK “7): RN in re: 1012 performing NTay while standing on N7y naxy
a. 75w 1. if 1 foot was on a ’93 or rock, we see if he could stand on the 1 “good” leg — nws nmay
6.  Support (8237): N:R DNar RNAvIN — if he received »»3 in right hand and left assisted — nw3 nmMay
d. Support: Rma restates first two circumstances and all 3 approaches
e. Source:v.1 - nmwya implies that he must perform the entire act (examples given)
i Point of disagreement: v. 1 —how many implied exceptions (’0n) are here and how are they applied?
1. proprp RONN YO, RLNN NNR, RONN NNYYA
a. w7 all 3 apply to performance per se

i 1: excludes performance of a half-naxYn (one does n1’py, other does nnan)
ii. 2: excludes joint performance where each could perform it alone (“912> "1 %120 M)
iii. 3: excludes joint performance where neither could perform it alone ("1 1°x nn 5127 1R r”)
b. /M ’1. agrees with first two; applies 3 to someone who acted on directive of 71 n’a
i. w”. if someone acts on directive of {7 n’a he is still 270

c. 77 only 2 mown (Ronn wai, Ronn nnR) — excluding %2 naxYn and acting on directive of 772
III. Exploring joined liability — using n”’s ruling (above) that even if both are capable, they are both 1n
a.  Question: do we require a MW of NaRYn for each, or is a single MYV sufficient? (N1 and RN 7 disagreed)

i. ~27(via X99 77): should only require 1 1w, from 1:7 ar (above) where 1 ar distributes v to 4 mnY>v
ii. Support(»7227): :» naw — if 1 cannot block nna (to trap »ax) and 2 block it — pa»n — with 1 deer ('R MYV)
iii. Support (8127): ®n»11 — if partners stole and slaughtered — they pay vap — with 1 animal ('® Myw)
iv. Support ('wn 37): if 2 carried out a weaver’s stick, they are liable ('R MYW)

1. Counter (X277 /7772 81X 77): perhaps the stick had enough fuel to cook 2 “light” eggs (01w '2)
2. Block: if so, should’ve just mentioned a reed; why mention a 17 —
3. Counter: perhaps it was long enough to weave 2 0w of n* R — rather, this provides no proof
V. Note: »"237 corrected Rin who taught that if 2 took out a »1 Y» mp, they are m1va and ™ says 27n (flip)
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